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1H-QNMR (600 Mz, CDCl3)

Purified Compound 2

MeO OMe

Br

internal standard

% QNMR purity ＝
mgstd × MWcpd × molar ratio × Pstd

mgcpd  × MWstd

× 100

molar ratio =

Icpd

nHcpd

Istd

nHstd

=

3.24

3

6

6

= 1.08

Icpd: integral value of 2 = 3.24
nHcpd: number of H of 2  = 3
Istd: integral value of internal standard = 6
nHstd: number of H of internal standard = 6
mgstd: weight of internal standard = 10.0 mg
mgcpd: weight of 2 = 10.0 mg
MWstd: MW of internal standard = 217.06 mg/mmol
MWcpd: MW of 2 = 201.62 mg/mmol
Pstd: purity of internal standard = 0.97

% QNMR purity ＝
10.0 mg × 201.62 mg/mmol × 1.08 × 0.97

10.0 mg  × 217.06 mg/mmol
× 100

＝ 97.3%


